CONTROL SYSTEM-I EIC-501

UNIT-5
(Lecture-1)

Frequency Domain Analysis
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w:=4

) Finding the Resonance Frequenc
Given 9 9 Y

20-log( |T(w)|) = 5.282

wr := Find(w) wr = 0.813
Mpw :=1
Given
20 log(Mpw) = 5.282 Finding Maximum value of the frequency resp«
Mpw :=Find(Mpw) Mpw = 1.837 10 | | |
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Performance Specification In the Frequency Domain

Assune that the system has dominant second-order roo

CEr Finding the damping factor
Given 10 l l !
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B S ok Finding the natural frequency .
Given

2
Wr = Wn-\ll —2:C

wn := Find(wn) wn = 0.888 5



CONTROL SYSTEM-I EIC-501
Performance Specification In the Frequency Domain

1.6
1.5
1.4
1.3
1.2

Linear approximation

1| @5

B o 1197+ 1.85
09| “n

0.8
0.7

0.6
01 02 03 04 05 06 07 08 09 |1

¢



CONTROL SYSTEM-I EIC-501

40

Performance Specification
In the Frequency Domain 0 /f

5

j'OD'(O.5j-(g) 4+ 1)(]% o 1) 10 /

2010e |GH|. dB
o =
\\\

GH].((D) =

30
40
—270  -225 —180 -135  —90

Phase, degrees



